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A0 110,209A (+47)
5 53,073 A (+47)
Z 57,136 X (£0)
R 41,1165 (+41)

x () AEFEIAL
X176 A 18T

HRIAOER FErk1766H1H

BEAQG, FREXRSERAD (ERERASKRICEFRSNTLZAO) &E —BHUEEA.

i B | HEE | R S 18R it 18R &t
[R\E=H] -1 209 -1 202 -2 267 -3 469
ELH] 0 106 0 106 0 138 0 244
B H] 0 71 1 77 0 97 1 174
KEH] 0 27 0 15 0 29 0 44
WNEL] 0 8 0 8 0 12 0 20
=] 0 24 0 21 0 28 0 49
SRea ] 0 19 -1 16 0 45 -1 61
21T RE—TH -1 185 0 215 0 176 0 391
ETRE”"TH -1 150 -1 155 0 176 -1 331
EIRE=TH 0 1 0 1 0 0 0 1
ETREMNTH 0 0 0 0 0 0 0 0
EIREATH 0 73 0 102 0 130 0 232
TEE—TH 0 195 0 219 0 258 0 477
TEEZTH 2 365 2 332 4 410 6 742
TEE=TH 0 150 -1 168 1 183 0 351
WERET—TH -2 225 -3 247 -1 309 -4 556
WERBEI T H -2 349 -3 377 -2 384 -5 761
WERET=TH -3 245 -3 261 -1 250 -4 511
EMAFRET—T B 1 155 2 173 1 204 3 377
EMAFRET — T B 1 278 -1 287 0 342 -1 629
LB —TH 0 100 0 98 0 118 0 216
JEFLET =T H -1 197 0 216 -2 235 -2 451
AR X EEET -7 3,132 -9 3,296 -2 3,791 -11f 7,087
== 0 35 1 42 0 50 1 92
pisd;il] 0 123 -1 120 1 139 0 259
ZH] 1 75 0 62 0 82 0 144
1GASH] 0 33 0 15 0 35 0 50
—&T 0 1 0 1 0 0 0 1
NET -1 42 -1 45 -1 45 -2 90
t&ET 0 61 1 84 0 82 1 166
N&ET 1 42 2 47 1 54 3 101




NET 1 108 -1 115 3 173 2 288
+&ET 0 114 0 98 0 133 0 231
L] 1 219 1 195 1 247 0 442
i = 3 82 2 81 0 84 2 165
FEET — T 5 0 115 -1 120 0 173 1 293
hFFET— T B -1 175 -3 213 -3 245 -6 458
hRFET— T B 1 138 3 155 2 176 5 331
PRI =T B 1 198 -1 206 4 235 3 441
AFETIE T B -1 159 -3 182 -1 221 -4 403
HFFEIR T B -1 239 0 267 2 354 2 621
AFH—TH 1 71 2 66 0 89 2 155
AFH_TH 0 4 0 2 0 3 0 5
AFH=TH 2 92 -1 69 ) 93 -3 162
AR X st 4 2,126 o| 2,185 1 2,713 1| 4,898
EEESTIL) 2 285 1 256 0 274 1 530
SR ] 0 17 0 18 0 22 0 40
BT 0 76 0 88 1 131 1 219
P 4 303 2 309 2 266 4 575
] 0 29 0 41 0 26 0 67
EEX] -1 79 0 66 -1 87 -1 153
A —] B 2 166 0 190 1 193 1 383
A — T H 2 221 0 242 -3 238 -3 480
=0—JTH -1 54 0 61 -1 62 -1 123
=M_JH 1 153 2 139 1 212 3 351
IEZ R X g5t 5| 1,383 5| 1,410 -4 1,511 1 2,921
ST 5| 1,164 2| 1,346 o| 1,433 2| 2,779
SBARE] o| 1,281 7 1,576 o| 1,765 7] 3,341
=Ll 1 426 -1 639 2 711 1 1,350
ERET ] 2 698 3 906 ) 929 1 1,835
TERHT 2 236 1 253 3 305 4 558
BZFE] 0 128 0 129 0 11 0 140
E AT -1 43 -2 21 1 26 1 47
FORAT—T B 2 71 2 121 2 123 -4 244
R — T H 0 237 0 238 0 186 0 424
BIEER—T B 0 226 0 232 0 276 0 508
RIEEE—T B 0 132 0 144 0 189 0 333
IBEE—T B 1 86 1 97 4 103 5 200
BRI —TH 1 324 1 329 0 411 1 740
IBEE=T 8 2 258 3 300 1 294 4 594
IBERNTH 1 102 0 126 1 147 1 273
BERAT H -2 331 4 335 1 396 3 731
Xwi—71 B 0 124 2 159 1 182 3 341
REE— T 5 -5 88 -2 100 -6 115 -8 215




IR X St 5] 5,955 17[ 7,051 2[ 7,602 19] 14,653
FRATE] 14| 1,464 5| 1,776 2 1,782 7 3,558
LLAEHE] 6 887 8| 1,043 2 1,139 10[ 2,182
FEERE] 3 388 1 880 5 871 6| 1,751
5 ERE] 12 305 1 386 13 412 12 798
[ I 1 216 0 180 0 197 0 377
IR X st 12[ 3,260 15[ 4,265 4| 4,401 11| 8,666
TEREIE—T B 1 194 0 259 0 296 0 555
TEEE_T B 2 110 1 155 2 153 3 308
TEETFE=T B -1 57 -1 69 -1 73 2 142
T ERETFEIU T B 1 167 1 185 1 194 2 379
TEREEAT B 1 260 0 328 1 361 1 689
T ERETFE N T B 2 162 2 194 0 200 2 394
TEREEET B -1 191 0 208 1 233 1 441
TERETFEN\T B 5 263 5 338 4 338 9 676
TEEE—TH 2 614 1 662 3 716 4 1,378
TEEE_TH 2 151 0 187 0 199 0 386
TEREE=TH 5 345 3 358 5 456 8 814
TEREERIT B 4 369 7 512 6 486 13 998
TEREEAT B -1 667 -3 727 3 484 6| 1,211
TEREIEAT B 5 308 3 292 5 308 2 600
THEEETH 2 558 2 705 1 746 3[ 1,451
TEREERENAT B 1 556 1 646 2 735 -1 1,381
TESREEATH -1 112 -1 302 3 269 2 571
TEEIE—T 8 1 30 0 23 1 19 1 42
TEEIL=TE -1 6 -1 5 0 2 1 7
=T 0 0 0 0 0 0 0 0
R X st 25| 5,120 10 6,155 23| 6,268 33[ 12,423
BREFHT R — -1 733 2| 1,138 4] 1,235 6| 2,373
BREFHT RS -1 568 1 844 1 910 o| 1,754
BREFHT 755 3 167 4 258 2 245 6 503
BREFIRX &5t 1| 1,468 1 2,240 -1 2,390 o| 4,630
EEEE]: 2| 1,725 6| 2,422 10[ 2,465 16| 4,887
EEEES 2 806 6| 1,028 3[ 1,108 o] 2,136
IR EST 4] 2,531 12[ 3,450 13 3,573 25| 7,023
EPZRHT 4| 3,158 -5 4,361 11| 4,694 -16] 9,055
=& o 1,277 8| 1,715 9 1,825 .17 3,540
BPRIRX &St 13 4,435 -13[ 6,076 20 6,519 -33| 12,595
/K H] 1 1,779 3[ 2,609 3[ 2,799 6| 5,408
HKRXEST 1 1,779 3[ 2,609 3[ 2,799 6| 5,408
NE 37| 31,189 41| 38,737 11| 41,567 52| 80,304
ANEHT 2 327 1 264 1 360 2 624
= 0 10 0 8 0 9 0 17




AERXEET 2 337 1 272 1 369 2 641
IN=i] -1 219 -1 167 -1 208 -2 375
[LERNFS 0 21 0 28 0 25 0 53
FSH] 0 38 0 28 0 29 0 57
[LERXEET -1 278 -1 223 -1 262 -2 485
N 5T 1 615 0 495 0 631 of 1,126
TR ] -3 3,581 -4 5,414 -10| 5,995 -14| 11,409
I\ ET -3 3,581 -4 5,414 -10] 5,995 -14| 11,409
ERLLIET 6| 5,731 10| 8,427 -1] 8,943 9 17,370
N5t 6| 5,731 10| 8,427 -1 8,943 9 17,370
a5t 41| 41,116 47| 53,073 0] 57,136 471110,209
SIS AOER Tak17FE6H1HRE

BEAOR FREFRAGEALD (EREASIRCERSNIZAO) & —HUEEA.

g R | | R 21k 18R ik 18 a5t
AEHTE 0 98 0 66 0 112 0 178
AEHTA 1 80 0 67 1 78 1 145
AEHTRA 0 10 0 4 0 9 0 13
A EH]/)\BR 1 68 1 71 0 81 1 152
AR EH]AH 0 13 0 10 0 12 0 22
AEHEH 0 40 0 35 0 50 0 85
AEH IR 0 9 0 8 0 8 0 16
AKEHTE R 0 9 0 3 0 10 0 13
45 0 10 0 8 0 9 0 17
KERXEEET 2 337 1 272 1 369 2 641
IN=TRvES) 0 23 0 21 0 23 0 44
TN PR -1 37 0 21 -1 33 -1 54
INSTHE0) 24 0 28 -1 18 0 27 -1 45
[1- SHTER RS 0 33 0 25 0 29 0 54
NS N 0 52 0 40 0 51 0 91
IN= e 0 18 0 18 0 22 0 40
IN= TR 0 28 0 24 0 23 0 47
[LERNFS 0 21 0 28 0 25 0 53
FSH] 0 38 0 28 0 29 0 57
[LERXEET -1 278 -1 223 -1 262 -2 485
a5t 1 615 0 495 0 631 0] 1,126




